AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.

What Caused the Cold War?
1
Describe the different aims of the superpowers in the making of peace after the Second World War. 
[4]

     
2

One way of life is distinguished by free institutions, representative government, free elections, guarantees of individual liberty, freedom of speech and religion, and freedom from political oppression.

The second way of life relies upon terror and oppression, a controlled press and radio; fixed elections, and the suppression of personal freedoms.
A speech by President Truman of the USA (1947).

In this statement, President Truman suggests that the American way of life was superior to that of the Soviet Union.  

Do you agree?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
[6]
     
3
Historians identify two key causes of the Cold War:

a. Differences in ideology between the superpowers, and
b. The tensions caused by the events of 1943-49. 

Which of these was more important in causing the Cold War?  You must refer to both factors when explaining your answer.
[10]

     
